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PT(Presentation)0f| = S|AF 27i(Company
Profile), HZt AlY A=A (Annual Business
Plan), 5&7| AlY A2l 21 (Mid & Long Term
Business Plan), 2&E 7% (New Product
Development). 4l ArY 7H&(New Business
Development), @12l A|®  7HH(Overseas
Business Development), 2A| S8 HE 1 (Ad hoc
Report) 0| QALCI® EXr= 1986EFE 19954
MX| Ch=H 7|¥el AMEX. Citibank Ol 22E&
StHM FOZ PTE o F&O0| ROl A1 1995
HEE 2011H 7HX| FILA?} KORINDO Groupdil
M Z8E olEM 2RO BoE TERS S
Ay, HE0| HHSI= AS S0HE 7127t B
Ct. 2|1 20123 3E30YEE 201549 329
Xl 2k 3 FoF Qe Ao £XF = F(QE
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M 9oz xSl EX} 2 seminar,
conference, workshopOl X3 EMSIQICt S
QziAlor HE FXeL MA =X2 FF H4
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1. MARKET OVERVIEW / MACRO SITUATION(O}
A HR/ANE g

*Political Situation(HX|X Atzh
* Economic Situation(ZH|X Atgh

* Social Situation & Customer Life Style(Al2]|X

o & 074 21o|= AERY)
2. BUSINESS OBJECTIVES(AIY 2 E)
3. BUSINESS STRATEGIES in HE(AY X2

4. BRAND POSITIONING (E#E Xi2ofZ) &

positioning Xt2|0{ Z

5. ACTION PLAN(&Al At A=)
* Product Plan(&E # &)

* Price Plan(7}4 A=)

* Place Plan(& 2 A=)



* Promotion Plan(®% AH|€l) & Marketing 4 P:

Product. Price. Place. Promotion

6. SALES PROJECTION over the next 5 years(&
= 5 Tof of &)

7. Profit & Loss Projection(Z=2] 04h
8. Investment Plan(§£X} A=)
9. Manpower Plan(213 #|2l)

10. First 12 Months Operation Costs(X 1270 ¥
293 H|8)
11. Cash Flow Projection(8i@ S & Of4)

12 Executive Summary(22f H 1)

* Key Observations & Learning over the past 5

years(I}7 5'd F8 ZE/WE)

* Competitor Profile in ¥ E(AMAI =Z2H)



13. SWOT Analysis(SWOT &4) & SWOT:
Strength Weakness Opportunity Threat(Z&. 23&.

712 ?l=) 2 °fof

14. BEP Analysis based on Monthly Sales(&'&
oy 7|F &Q&7|™ M) @ BEP: Break Even
Point =2 &7|H

1 QAL

& PT XIEE O Xde 2o= &S| PTS & B
20|A O HS(rehearsal) ALCHZ s{OF SiCL.

2 LS sX|djof g2 =&, R 0| 42
E|l=X, ofcloAM fAS ZXE oljof st=X|, of
H HAXME & ZHX[E 02 253 oo SHCL
d= FLHOM B RS0| ¥ESHKOl, 72t HA
=0| concert O|TH0] 2|54 '5|'x°| A2 sjiof
StCh. §9| QAR AT XM Zo| Qlofor &

71%HA| MEE SloF E2 AY¥E E + A, H
120] 0¥ Z2SICL /73 HUS AZSIHM Al
E5tH FS2| attentionS =
a7t X2, 2ol pT A3o] OH +



s Aoz FMBCH

el oHEM TES St ElojM 2 & YU
Cl It is a great honor for me to make a
presentation to the distinguished guests &

distinguished guest %!

HHE Sol= AlZE WF4h g EH ZAF EE
LICt | want to thank you all for taking time

out of your busy schedule to be here today

25 FES EloM orF Z[ELCH It is my

great pleasure to make a presentation to you

= 2EY 5 A= 7IBE FOM ZAF EEL
Cl Thank you for the opportunity to make a

presentation today

2= M7t EEY = JA=E 7[3E F4 0O|2H
ZojAl T offl ZAS EBLCE Let me
express my sincere gratitude to Mr. Kim, who

gave me an opportunity to make a



presentation today

2 N 20

LESHA H 27HE SIASUCE Let me

introduce myself to you briefly

H O|§2 L=cts 4 ULICH 28 HI2 ALY
A= ULICE | am Nicolas Kim. The topic of my

presentation is Business Plan

THEHoz SO0{7tX| @0, Zast 9@ I
O™ YULICE I do not want to go into details. |

am going to focus on major points & YO|=

2E S 0 0jQ XFE M0l 9%t BEH, 24X
o

LHEE MY A=ZE ZESH| fIs & 108 B
20% o YLICH | would like to spend about

10 minutes to review next year business plan

wgo| 2Xe 9al Ao HA A%a ¥ U



ofz &gk dg|ln HH A=ES ¥or Euxt =
ZiIYL|Ct The purpose of this presentation is
we should know where we are, where we want
to go and how to get there & where we are,
where we want to go and how to get there &
oA §3 Ljolz we J2|m MM W

WOo|Z WE T Of 04 X}F Mol= ZQ% =H

=2o 80 o =5 TE E2ZsUoh d
oA H&27F YLCh oHAE EF0 308 FA
S LICE Let me give you a little bit about my
background. | am a marketing guy. | have been

working for marketing for 30 years

AlZto] 9ol @Fet 21 =2|H&LICH | would
like to present bullet points because we do not

have enough time & bullet point 2%, bullet

=0k
o =

ot o2 M Mo HHS LD MEY

Ct | would like to share my experience with



you today

25 M7t 2aY WEFE AXSHASLICH Let
me start off with the contents of my

presentation & start off with something &%
S ZEE AlXtSILC}

s M7t 2EY WE2 S ZSLIT My
presentation today will cover the following

contents

O|HAZ & LtS+1OXt SL|CH Let me share with
you my observation () observation: 2H&0f 2|A
ot O, opinion YEHAN QI o

Ot Z=MEQO| =ZHdot O[BHE <
S20|EE NMZEH E7K dEY o8¢
We will go through whole slides to get the clear
picture of this project & go through 1) ZEd}
Ct. ZAMSICE 2) F4Ct BESICHERSOl &= Al7].

& 59 AL 20h. Z8kE. A8 HlEs Of
=5. 724 &7

nlo o|

i
=
T



=2 EN0| chs ZtEs| egsl 2SS Let
s touch on main topic & touch on something +
Aofl CHal eS| ofEotLt

o EgZ2 AN BAZLLC Llets go
over(=review) main topic & go over=review &
ES|C}

T2 ETZ %2 20 EZSLULCH Let's run
through main topic & run through something 1)
FAE Ye| ZEsSich 2) W ol ASSHC

(=rehearse quickly)

>
L2 muu rAd

>
noad

21-

2

>

OF
=

[
1 AX| oCIME XpalZo] M2t

| would like to share my experience with you
today 2= OG2{Z3 &H X2 FEES LiF1

HELct



I would like to spend about 10 minutes to
review next year business plan LHE = ALY #|

22 HESH| floi oF 102 "= 2% oF

| would like to talk about something 5%10f (‘&

2H5) chsl ZEStaXt gL Ct

My presentation today will cover the following
contents 2= M7} 2EE L2 Ct3a €S

Lt

My presentation today will focus on something
s Mol s FAN(EE NHF) XHS UHF

23 ghLck

The purpose of this presentation is we should
know where we are, where we want to go and
how to get there WHO| 2X2 22| Ao H

WoAED $F LOIZ $E J2|D 4N AES
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B7|7b LIotE AHehs MEES 7| A
0 AKX, f LiobE ZHeln TeiFE ArE
2E ASLICH | keep hearing people say that
the economy will get better, but no one can tell
me why it's going to get better & Recession
B7| K|, Depression 22 Slowdown 47| &2,

Economic stimulus &7 S

X 2717t 2d A BTE Kots A2 o
EILIC} Economic crisis does not always mean

slow business
HAl #10{7I= HA/EA.

Apologizing doesn’t always mean you are
wrong and the other person is right. It means
you value your relationship more than your
ego AfateiCh= A2 &4 S0 S2|a HoiH
O] &Ct= AS 2|0|St= 20| OtL|CL Atap= S
Mol il AEHEL 2AIE o 2F9| 7ct

L 72 o|o|stc}

- A= — —



ase 2alet 22 A ozg XD sy
C} They have the same market conditions as we

have

ChE EO[Lt 3 org ol AE &2 AE0
dotLt Zotx| A 2 AYLICEH Over the next
month or two, we will find out how strong the

season will be

C

ot

gH=0l 2" YME AMEOM A T

= ol A

=1 USFLICH Major players are squeezing the

ol

minors out of the market (F1) squeeze
somebody out of something 75 At ZEHO
M E8SICH=to make it difficult someone in
business by attracting their customers) (F2)
major player=major market player &4 & =&, Of

d gMEs . YUHEHM S) key players in
this industry: O] &4 =8 €|

HE2 =1 g a2 2| d5HA g Ozl
2 B3] & LLH Costs are high, but business

activity is not very strong. | see the market as flat.



91 100A7E A AEe] 85HHME A= H
7ot UAELICH Top 10 companies account for
85% of market share & account for=represent
Hestct (o) 5 players accounts for 80% of the
output 571 ZIAZHEEO[) TN HLkol 80%E
PN KE] S/ = T

g0l e d ofztn dzeLct

When | look at the situation, | think that is

interesting point

ANg2 g@5g 3¢ JAYUE 20| o5 Fef X
e UE HEA Hoiotd ASLCE The market

is changing so quickly that what happens one

week is not the same as the next

=077| flet LS X7 2
1 RAELICE We have been
struggling as to how to enter that piece of the

market & struggle SSCHE E|X| 240} OjE 2AO{

=&5iCt 50t (Ofl) | struggled to maintain



my focus and rhythm because of weather delays
SNZ Qlot d7] X|gez QoM L= TS

2|50 OiE HASH

il FMAEHAAM HOLZ| fASi o] =X[7}
THE[D USZLICE This process is being carried
out in order to emerge from this prolonged
economic recession & carry out=implement =
HSHCE OZHSICH emerge SHOLICE M LEQCH

(from)

of A
=

rot

= AT d2s B0z o ZE0lM Lt
TS YLICE That is an educated guess based
on current market situation & educated =g
2, 490 7|=3t, guesstimate O EZE (guess

+ estimate), O &l &I &tSICH

o OO M= 2 HEO|OZF Aol RE[TL
Ct LSt 52 FE= o2 ZHA =2[st
o (F2 7t40) & = UAXT 2 HOo[o& 1H

SEM40| 7] IHEJULICE In this kind of market,



small buyers almost have an advantage because
they can shop around their orders and large
buyers do not have that flexibility & shop
around (for something) 7t& £2 7I14/222

?I5i 62 7tAIS SOFEHLLY, flexibility 58

e old & =0 o] Myo= S5l ettt
UAAELICtH There have been dramatic changes to

our world over the past 20 years & dramatic =

MOl [drelmatik] 222 "= MY (@=Z4 H

E4=)

R AT, 28 W AS2 M 2H[2] 70%E
XXl &1 JAELIEF The consumption of top tier
and second tier represents 70% out of total

consumption () tier A&

3-1-2 3718 &

Ciettl=s §F& &5 idE oM T SO

Q&L|CH Korean Government is now in the



process of improving communication () be in
the process of ZI%§ =0 UACH

Atgel dut= bOj=0| EX MHAYO=Z X|FE|
1 HzY2 a0 olsibtes AS 2034
A& LICH The performance of the business shows
clearly how the U.S economy has moved to a
more service-oriented economy and less driven
by the manufacturing sector & -oriented “X|2F
o|, Eost=, E9IQl, Sz "ol ol e
Al (0)  service-oriented(A{H|A  SAl9)),
customer-oriented(1 74 Mo, male-
oriented(&Xt 2IF9|), diploma-oriented (&3
£I139]), profit-oriented(0|2) FT2|), bottom
line-oriented(X|F ZME FAlots, F=AS Al

St£), result-oriented (2IE FA5HE)

EXxls| TE ce|AsL o AZHAIOAM =5
H22 OtF H|YL|Ct | have to be honest with

you(=Let me be honest with you). Logistics cost

in Indonesia is very expensive



HLISHH ot=mAPUAM= B2 FOIAHS0] o
20 Z2M i1 s =53 FALEE O B2 o
== TOstH2 MFE  Ea7F gflgdd
Because in the Korean market, many buyers have
piled up their inventories through the past several

months so they don't need to hurry to get more

product.

Ml AMYEE & M4t ST 0|0 ABC 1
=2 OMAote] & =2 dEsr|§ #Asta
ol A

AUAELICEH In following ABC Group's decision to
take off 400,000MT in Europe, ABC Group wish to
spin off Asian mills & take off 1) 22 HLCt 2)
SEISILE spin off 7|& 2 ALOA Z2[5H0] 2o

= E2AE ML

Q8o 30| MY 2YoR
Lt 7t4ez = 0 EHE=
paper business in Europe is doing well from a
volume perspective but it's not doing well from a

pricing perspective



Rl AlOF2] 1984 M 2702l H| 4f &2
AE =71 CiH[SHA 24% S7t St¥lE
Indonesia’s non-oil export in the first two months
of 1984 went up by 24% against that in the
preceding year(=comparing with that in the
previous year) (1) against 1)F 0| CHH|SIO] 2)
A0 BtCHSto] (F2) against O “Fodofl CHH|SE
0]"(=to compare with) 2= Xk QUCl= AS
EXt7E 19840 HZ22 A E|0M AES
HHEX] 20 OCtHE QI 895tAS

= 20254 7K MA 3%e 4N ==
o ZAYULICH 259 2™sts AH|Ab MY

oA B d&o et 7SS MSstL

Z H

Q0

0 HI HI ro

2 LICt By 2025, India would emerge as

rir
of

the third largest economy in the world. Booming
services and industry sectors are providing the
required impetus to economic growth (1) boom
HE 7). = 250 ZTEIE2 slump) (F2)

impetus =&, 7|3, A=,



Olzo| ZAY=H2 1ol KBS SYULILE 2ZE
Ao ool XA LsiE <Ats OiE S7t5t
I JAELICH India’'s competitive edge is highly
skilled manpower. Number of knowledge workers
in software industry are increased year after year
(Z1) Competitive edge=Competitiveness 4=

(F=2) edge M. &7 vyear after year SHOFCE Of

H

T2 FO7t 2 2o A0 ot=EL F-™HO|
AQAELICE China is more competitive in bulk jobs
& bulk El7| |‘X| 938) . &E. in bulk

=0 M7t M=o A0 =t FAe[ H= At
X|std JQELICH China is taking the lion's share
of investment in low-end manufacturing & lion's
share MY & & X low-end X7t2| high-

end 17}9]

S=2S0| O Z0| 28 ™ECH BIO| At 7|



= OtX|2t =20 ALK EX[= &L The
Chinese are buying more this month than they

did two months ago, but the orders are not big

Haol g2 Xg 38 &22 X0l
= A Z0| EYL|Ct Right now the negotiating
power seems to be moving into the hands of the

suppliers

=2 ASH2 M 4%, 2+ 37 =0tk A
= M=g+FEE  YLICt Demand drivers are
economic growth, population growth, increasing
I|V|ng standard & driver &&3, growth driver ‘d
P AS 3 a hit-and-run driver AFRS T WAL

HAL

r-|00

=27} "H 71 E ZYULICF Demand will
become a wild card & wild card: 7}E =0|0|

M jokerME Thso| T, o5 + Y= AEH(Y)



no chance the mills will raise their prices. It will

either stay the same or go down

£2 7|8 71740l 84 J1HEE 23 sUBY
C} High oil price forced up food prices &
up /t4/25 s =:tlCt, shoot up =7t7t 25

SICH go up 40| QLECLC}

CIAl 74 50| 308 Ol U2 Aoz EHX|
UL LICH | don't think we'll see it move another

U$30/ton higher in price.

1S E7HX| OpAlotE SESH kol 1A
o WB 0|20 Aotk WZehR| YU

Cl | would not expect too much changes in

export prices to Asia until next spring

e M =2 (tdd 2ofol) =X &2



AL 250 FA=s & A A7 2FE WK
OfFd 2k g2 ZAYLICE None of those top
tier players are backing off and nothing will
happen until they determine what they are going
to do @ back off E2{LCt. § ZZ X|C}

AE 7HK Bs Z0| 2=g Hot7| Mo 22|
tA4: @22 2|2t LTt The market value is
volatile these days. That is why our price is also
fluctuating (F) volatile 1)7tZ, 7HX] HE Fo0|

Mgt 2) Fgdo| AE fluctuate HESS HESICH

g = g=otLt xHF FH dF0 it 7t
g2 HAM, ofHX|l sof HE S7tE et
=2 (o)
= LS

02 Z=0| WEX| AESLICH The market is

going healthy, however the increase of price for
end products is not quick enough to catch up
with the increase of cost including raw material,
energy and so on  (F) healthy &Ej7} 2=5t
end product & H&. &HE. end user £F At
Xt catch up with: F4S M2IECHOMN catch



up with = “Zg"H0| = L} AKX /4 F
25fM CFA] 27H)

0| E2t0tof| XtF L= BEH: catch up with
0= E2tor A Lee B S0 Sttt
catch up with o0, &0 e, o[ o
ZEX|7F QUL Ol E &9

1) You just go ahead! | will catch up with you
| A 7k W7} & mpEkE ATk "o 2l K)

2) Long time no see. You and | must catch up
with each other 2:e§ZtZtO[OF. LT LI 1
Setol  ofEA XRE=Ex 2SS oY
sfopzol(28e M2 of7|siCt. HFLE X|Qlo]

Xt H Rbet o|22| S WIICt 9| K)

3) I will catch up with you after work E|Z 0
BXHEE AlZHO] x| 20f = REC} 2] )



4) The police caught up with the killer after
tracking him down ZAEZ2 #H&QUXE FEHo
B0l H=SICt (arrest=HIZ3IC} 2| X)

(=7t OFF &8, F=U Y7))

O[AHZ 7| O|= 0 Hizt= SlgLICH 7H4 FHOA
Sl Bets  ZAEX @A JAsUHEh
Nothing has changed since the second quarter.
We see no immediate changes in terms of price
& immediate 42|, FA|2|, XHHQl, see &
C}, WZASICE in term of something & ZHO|
M, 2ol0] 3tof

-

Z IAE2 HE €Y 2R THE QM2 YRS
R}ELICH Major players announced price hike
effective from July 1t & price hike=price

increase 7t4 ©Qlat



Tourism shows signs of recovery

T Fdge| sx2 SXE [ SIUSLICH We
returned to the black thanks to the sales pick-
up at home & black: X} in the black (X§740])
SXI2, red: ®X}, in the red: MXIE, at home
=0 A (BT 5E: abroad di2|0fA) (Of) This
product is selling well at home and abroad O]
42 IHAdAM F F 21 AL hEZA
2471)

u

|
Hu
rlo

Fo2 FASH=E" 2IAMYLICH The group

s “bottom-line oriented” company (F) Zo}il

f St= HHOlE Zxg Mie AH7| 7t HFL=E
UL WA MM =VEE #RYH £ H 2 0
Z H(Double quotation marks, & “ ")ALO|0] Z=
CHO|E Eo ofF MEEA EY = A= Ol=
EtOiLt Gt UM At = 5+ US

Y M2 10% 2 20% AtO|2td o=
UELICH | forecast next year's sales growth

rate will be somewhere between 10% and 20%



LiHoll= <f¢tel 3|0l UAELICE There is some
hope for business next year (F) Next year is
looking better L{H0| & &0} &0

chgol & B BIISo| ZHL BHs we Ho
2 OFF ZHATHLICEH We are very confident that
the economy will get a bounce over the next

several quarters & bounce &7|. EtH

G e 4 e OfX|7h Z23| Yol Yt &
=fot Of 7|2k &LICH It is fair to say that we
have so much room to do more (1) It is fair to
say that. F10|2t1 &St= A= ELESICE =Cf
(32) There is a lot of room for improvement
M2l ofx|7t 2ol ASLCE room S X,
o

=M= =O[X| @X[2H atAH 227t HX|E A
A2 HMASH 2 9= JI=MS HOILICI | don't
see a problem but | see an opportunity to correct
the mistakes we made in the past () | don’t see

any problem. Everything is under



control(=Everything is handled well) 35| ZX|
7t glof 2. 2E o] E £l

HE2 GAta 7H3 Y2 0 JD AE L
Zt ZAQIL|C} Costs are some of their lowest levels

historically and continue to go down

ARAE 27101 Z7tZ0| Qo E Hete Z=FO0| &
O|X] 2&LICE There is no sign that the price
will be increased in the 4th quarter = | see no

sign of price increase in the 4th quarter

Hol [uch(dH, s|Y, A, M=, od, 71=],
HE, =3, g w3, g4Al, ¥2, 98 3)

There is no sign (choice, hope, evidence, option,
doubt, chance, charge, guarantee, alternative,

repercussion, indication, symptom, comment,

etc): 0|2 Aoz Mo|= BESEO| OFF 0| At



2 =
o O

AMAFZZI0= Ot =27t =5 A2 E0IY
Ch, 3A =H oot e BOHALD 7H4E 2
£ ZAYLUCH Fourth quarter period will see
extremely high demand. Excess inventories will

fall and prices will rise

APgo] D ZFor EYL|Ct Things are really

looking good

>~

22
A

|
sk 749l

|0

2 olog 82 &< =
sEg = UM 7|0S

|Ct The new plant will help Korea secure

[l OH
rob oz

o
[
7

0z rot

=)
24

=

9
o

<2

18S4 _|_t9_+
mjo

l_

a firm competitive edge in the IT sector

MEEZ AHY =Eo EH FoE 7|200f & 0Of
X E£2 AZIYLCEH It is high time to pay more
attention to expansion of new business (F) It is
high time Ot &2 0. 7| & L8r= Oj

=

M2Z 50| AHRH 45 AF2 UAsH

C} Our new product has been a success from



the very beginning & from the beginning X
=78, veryg 0] X

Mz22 MHA2s &0 ZA HE&S =20F=
AMEO| stAS ZMS| = ZHYLICE The new

service will create competitive environment that

will significantly reduce the costs

ME2e 7 AZd $2(9 WS ARl X|&H
o ZMo| Cfef £ 2Ol 2 LA

I AEFLICE We remain optimistic about the

outlook for continued strength in new home
construction and in the repair and remodeling
market & remodel 7§ Z=3IC}, 7H=SHCt

M22 AtsAtof Cis] FEH o =25 =
1 QUFLICH We are seeing an enormous

amount of demand for the new car

MER ZZHMEJ FFE0AH 4 =2 7HXE
E AAS ZABHLLCH We are convinced that

the new project will add value to the



<)

shareholders & be convinced that=be
confident that g2alo|ztn SHAMSIC}

shareholder(@=) =stockholder(0|=) F&F

- = o
g2 B0 A ¥ & AsU 13E S
o, P2l HES HYUMD MMES AYsin

AN2Hez (#HofEds) AL =gsta AsUch
We will have a better picture of whether or not
we are truly seeing a change in demand at the
end of the 3rd quarter. Meanwhile, we are
continuing to reduce our cost structure, develop
new products, and expand geographically &
picture A& ue}, ALE{O| O|3l. meanwhile=in
the mean time 12| SAM(TRE. A8 Bk

T OF =3. 7= 7))

Tt Y S7te sieoMe gt Y H
EHO|YELIC The profit and sales gains are
[

mainly due to active sales overseas & due to +
A =20, =E0f(=thanks to)



AAZ O AFRIR2
1 E5171E FYUESLICEH | told myself that this

must be a sunrise business and | wanted to get

S 4 e ARO[t s

into it ® get into something A2 AIZSHA E|
Ct. S0[& ZA =ICt

HE|ol XMFot= 802l Z4: | am talking to

myself. | am asking myself. | am giving myself

Lt 222 oA EStcr Lt 2A200A ECh L
22004 ZFFCt

@ 2= trend?t “A="(EHX|2t alol W E

small but certain happiness for myself
=H, 4 2220A4 FAS Sict= &#80|
Oz SAXNH MICt ofF EH

_r,u_
0 M
_O'_I-

Please don’t interrupt me when | am talking to
myself Lf 2AZ20A stn UAS M= WHE
Stx| Zox



I am asking myself what | am doing here 't 2
22004 o7|M FAS St Y=% =020
ol
rA

| am giving myself permission to love tt A2
2oA AtFsiE EChe =S F1 Ao

I am giving myself a pep talk “Come on! You
can do this” “®lLf. d & = Q0{” 21 L} AA

Z2oA A2l EE stn Ao

| keep telling myself everything will be fine'
SE ¢ol E 2 2tn W 222 oA AE =
ol 2tof

rz

0| OloM 3A 45 & As HEstn
A

UAELICH | am optimistic that this new product

would be a big hit in the market

YYe T Y2 2018 HI|IE HEHoE
B0 OE MES2 HZH2=2 FLULE Some of



our sales people are optimistic about 2018, but

others are pessimistic

A0 MASH Z{o|2tD 7|CHSHX|DE T =
orZt O|QI YU LICt Sales growth was expected,
but breaking a record was a bit of a surprise &
break a record= make a new record 7|S& 44
SICt break the rules &= 7HCH (Gll) Rules are

made not to be broken &2 O{7|X] Zog

o % 2 Eot 3
ol 252 F1 EOF Lt It may not be as
bad as it was, but we are going to have to see

several months of positive returns

20| R2l= HX| %2 SKE EUSLICH We
saw handsome profit this year () handsome: 1)

tekst ool HZ9| 2) B M7l(=good looking)

0>

siie] A7|7F o EA HMHEX o=sH7|0e Y
O|ZX|BF SHIYNK| EH 2016H0f| H|s) A7

-0 NPO



b X @2 A2z EAZLLCE It is too early to
see how the market will shape up for the vyear,

but so far it seems much slower than in 2016 &
shape up X2ttt & & = CF.

20le] MEHNQl AntE TE Ol = =
Tt EELCH T MEo| sy 7|mX| ot E
ot F7|1Mel =Ho| M E0| A U2 ¢
XSt UELICE This year's overall results are

good despite difficult conditions. We're pleased
with this short-term performance, but we also
recognize that many of our businesses face
significant long-term challenges & despite (%]
Ah Ao = =5t =in spite of

2319 E|lfF =8 66,0002 ITCHZE HHEHS
=R Y LICE The tissue demand this year 66,000mt

is decent demand & decent (B%. & S0|) HA
of o2, "*”E*xl %2 @ (EHE. A 29

LIsi—-
S0]) dle] HE, &9 A=, HE2. @ (=¥

of) ofx|ztet, HESL @ (7tF mel) -0l

oY ojn



, ARIH X|7F =, &Y% ofF Fatt

AR
AtO|O{ CHYFSHA| 20| QUF

ot

o rlo

=ofe dE YF dHu =2 FE A= ¢
of X%HE 1 HES dMEg & UAUSH M=

OFFSFLICH | am pleased that we were able to
offset the continued high costs with a better
operation performance and higher sales volumes

for this year

9ZQ XY EXTF 07 INE 2ZEA 51 9
S LICt Foreign direct investment here is rising at
favorable pace & Foreign Direct Investment(=FDI)
Q=0 X E XL, DDI: Domestic Direct Investment

Li=2l =& F=XI at a good pace=at a favorable
A

ot

of Al d&;e=z o8 Fas X9 &=2
SHE HEAMIA =2, = aZMap AH[XFSOA

pe BHEE L2[0AH ZHMCt
E A YLt It will extend our range of products

in important areas and give us another strong



brand that popular with customers and

consumers

Oof A= HEH &9 7[glz B2 el O
7|12]1E ZotoFt BHLICH We see this as an
enormous growth opportunity for us and we have

to capture it

g At27|9 oM7t A= X K& ElCHE, SA
£ = & 2 4UC If the market maintains the
momentum of the first quarter through the end
of the year, we will be able to see the black

figures

XS Lol o552 JUX|E Z ZOo[ OrA
LIC} Car industry is recovering, but still has long

drive ahead (0]|1) We've come a long way, but

we still have a long way to go $E2|= H2 I

Mol AASLICHHY: 22l= W ZS ASUCH

SHX|Zh ofx f2|7t 7 Z:2 HLUCH (d2) wWe

have many miles to go Z ZO0| HO{(F, we
have to do more S EE E©/d5}7| IsiA= H



sHorat o) (71”7t CEO, UL, HAMH,
ZX|2 0|80 7= BE0| Yof Apz

S 2
A =E0ie ETCE OIF XIF & x4 ¢

=
Ol == USELLCE We are extremely
well positioned to benefit from a general
economic recovery and to meet growth
objectives going forward & position Xt2|0fZ
SIC, positioning XI2|0Z, benefit from S
ALt

Hot Hz7c Li'Eo|H 22} S50 Y=
=0} & ZHo=Z ELICt The way | figure it
demand and supply will be back to normal
next year & the way | figure it=the way | see
it=in my opinion=from my perspective=from
where | stand=from my point of view L 73l
2E, U Mo



A2 R F 3% FEE0 =AY Orders

o o
have picked up in recent weeks

2 0o[ds =dio WELLE We made a
handsome profit this year=We made a lot of

profit this year

ZHO| UCt= AYLICH

What is certain is that the progress is positive

271 HUE 2= sl UASUHECE We are
enjoying roaring sales & enjoy &

UK A7 M= Tt FE2[Ch (0]Y 58) 9:*
Ch 9| %% roaring Z2 5=, (2[2HA) HESH 37
Hdst= &7

H1

AN B4 97| Foi: Lol el 2F Hal: 9o
£ 2% O2ES BT Yo7 ¥E Hon
SEXIH, Xt7|9| UHEEQl Zei/Het S8 W
mi of@y 77| EHS Hs| A7|sHof Bt BE
%7|5tAl Sk Orgo| ejX:m oAH| OfC|ME

XAlZto] MZict,



My experience over the past 5 years tells me
that... X|& 5E7e] X FE2 HoA olTA

(that 0|3} %) ol ASL|C

My observation over the past 6 months tells
me that... X[t 67H&E7ZF X7t 2ET oA 0
F7|(that 0|5 &) EoliFn ASLICt

My opinion is that... ®| 2|2 0| &L Cl(that

0|8} 2xh @ In my opinion 2 AtS3|E =

From my perspective, L ZH0AM & Ofo=

The way | look at it is like this. H| Zsi= o[
ULt

The way | see it, .... M Adll=... & The way |
figure it 2 ME &



Y sl

w
w
1z

glsk 4 HrCf ZEn = A

7'1—| A AN - A

| Zx| Q&L
0| O] Y [ BE Tofo| ojEiols HO|X|
(o) 3

oA Q& LICE We are seeing nothing better than
we had planned. We do not see the leap that we

have seen in the past during this time of year

Bhol a2 olslo] STo| wusin I
40| 2 &0 HBESIL ASLICH We are still
facing a tight supply situation and higher prices

caused by domestic mill's demand

| A

)

AT Y

>-O

r|r

AMEgs2 ol =

of &AM OXZ flgdaart ALt of

A% M

&
oSH
A

=
(L

-

ZLICt Movers and shakers forecast that stock
market in this week will be bullish but risky &
Movers and shakers H2 QU1 AT Q= A}
HE@EH, "Xt A XF SHSs BY),
bullish 2E&= AlM2], &S5l=(F4]), bearish
Li2l= 2FMIQ(FA), bull(E2)2] X2 E2
dolH 4SM7t 2N, bear(F)7t 0|1 QU

e



BES Aot Els AMMZE AYE

rr

RS A AHEITF 20| THE TYEE Of3h Al
Z Hete 228 =0| UESLICE There are concerns

such a deal could hurt Group's balance sheet

JEAEE AE =0 S8 M FX| @it A
O|Ct The fact is the market is not any better this

year

=M= 27t Jots A YA X}C= A ©
LIC} The problem is we did not get what we

want

|Ct Buyers were able to negotiate some very
aggressive deals at the beginning of 2017 when
the market was slow and suppliers have been
forced to live with them & live with 1) Z}C}.
& 0ttt(=accept) 2) &715tEt



HO|O|S2 714 Qe ZE7F A= W OFck A2l
= Zooprctn gHEE LT Buyers always
threaten to take business away whenever anyone

announces a price increase & take away |75}

Ct. SOt

H5Th QIOHR Aol ofF BESH 2 HYUCh

Unless there's some wild card out there it could
be difficult

HIE CHSE0 7140 ePdE AH2t= 3[F0[ X
= A ST Y2 Y od=ik|a s FY

LIC} The situation is getting worse every day
although there is some hope that the prices may

stabilize next month.

H&= =7[ CiH[ot0 4MBtE S7F St X[

siofl HIsh 29 282t 2 SR/ASLICH Cost was up
U$40 million quarter-over-quarter and were
U$220 million higher than a vyear earlier &
quarter-over-quarter =7| CHH[3}0], 15t quarter
VS 2d quarter (1/4 =7| CHH| 2/4 &7])



We have not yet seen the improvement necessary

to reduce costs or drive stronger revenue growth

AARZ 719 =0 Oi5tA, 122 22 AZHCS=Z
OfEf7A 7ty M=ot Zo[fiebz O X2 o4&
22 ol dst AELICE With respect to fourth
quarter earnings, we expect lower product
volumes as December is usually, by far, the
seasonally slowest month of the year & with

respect to something F210] 235+

AN 8717 M oS AEES o5 # 4+ g

&LICt The business is getting difficult to
predict the market

o 0%
>

=7l €9 & 8§ We 71 ZMe Al
LICh SEX|Z2E &~0] ¢ FELCE The 3rd
quarter period is normally our strongest time of

the year, but it's still pretty ugly out there



MA BHE= 2c H1H o2 AlZtE H{A 2
Z eLCt The world economy may be going
through a relatively challenging time & go
through A|&. 1'thE 4CH(go through = T2
£ A8 Hlex OFF £8. XU 271, 4.1 H3

= I o 7tx| o =0] LIF)

M2Z 420 ol =F 2 7ete S7= |lsLUIt
We don't see the evidence that new product will
be a big hit

QoS Poj= ujL Y| of ut

TVO| XtF S¥Est= o “Of 92 FAZ
jackpot=big hit=big success=bonanza('=C}X|)O0|
a

I

amazing=unbelievable=incredible=awesome L}
Thet, YAXIX| gi=, Of 42 H8Al

LS —



(1) | hit it big in the stock market L} FA| A
oA Cf 9 E{ERIO] hit it big [} 92 E{=2|
Ct(big2 FAh

(F2)tHol Big fish, A= /3 <AL Big
name=Big shot=Big gun=Big wig

=20 Cjet AZH </=2 O|F0f XX U=
LICt The seasonal pickup in demand never

happened

TET7 o5 5+ fl= Q(=E) YL
sielofAMel Fofzt o7t X = gyt
Export demand is the wild card. It is unclear if the
buying from offshore is playing catching-up &
wild card O|&2 = 2= ARHA, ) catch-up
Metdes . 2|5 ZAb siA play catch-

2 2
up THEIE WBICE (A9 Ele Eoptaim) 9iEe

SUAN A= 2E7HE22, XA{H|7F CHA

~ |
oz
Fo| ASME SOMMT, MAISS MuQE @

PR

_



25 ZHO|H & 65= Aoty HHUSLICH
To make things worse for exporters, the material
price started bouncing back up this week and
shipping companies announced to raise its
bunker fuel surcharge of U$65 per container. ()
What is worse=To make it worse =to add insult
to injury 2d7idez, Al H I FHez

insult 22 injury 4%, surcharge &3 &

==0] 2 AS O L W AME2 MRS
2 gNUHD JASLCE 30| Algs &2l
SLICh 20| GICHH 2tHY| CHE 27t L2

A YL|CtExport is doing everything. The
domestic business is jammed with inventory.
Export is keeping the market alive. Without
export, it would be whole different game & be
jammed with something F22 FH|C & X}
Ct

Ao Mx|pE2 Fejo] 2 JHdol UAS

Hete IS EOFX 20 ASUCE The



outlook does not indicate any significant near-
term improvements in the markets & outlook
o=, M (0) economic outlook ZAX|ZQl Hat
indicate EO|C}. HEA|SICE, o] E=ZO|C} near-

term HX|%2 ZEzjfof

ofz12 BHST 91710 £2S0l MEeh U
C} We are facing crucial problems and critical

moments & crucial AlZ7|. X7 22, critical
?1712|, Sthst

LorEH 20 A= HE: ANH 7]
AHMX ¢|7|2t= E3(Economic Crisis )O| 19974
tot=0l o|zdat 2Lt HIx

082
Ral
r=
Ao
2
>
-
ro ojn
0

Economic Slump, Economic
Hardship, = Economic  Slowdown,  Economic
Downturn, Economic Decline, Economic
Turbulence, Economic Trouble, Economic Turmoil,
Economic Recession, Economic Woes, Economic

Implosion,  Economic  Meltdown,  Economic



Stranglehold O[Ct. & O] THo| &2 EXI7t o
SR EX MEoM RF Fof

=
AL
W
muin
=
n

JU=H0| =™ & 7[017F oF EALILE There is

no sign that sales will pick up

O] ECf =45 Otol M UL|CH There is

no doubt the market is softer than it was

axg 287t Y oj7|stn E= He AL
Of A% 221 Att= A YLCH What we are
talking and hearing these days is that oil price
keeps going up

M0 S5t oY
o S7tE SHAIZIR|
= RIAESLICH Despite the heavy demand for
our products, we have not been able to offset
significant cost increases in energy, freight,

chemicals, and labor & offset &2 StCH

T

A O ALY, O H4X| H|EO|AL, Ol= & ¢
MO[ALE &0l HBst U= HE S7E &

-



o= M B2 20 gyl 20| o ELCE
Whether it is raw material, energy cost, the dollar
currency rate, there is no light at the end of the

tunnel, given the rising cost faced by the industry

o ZdE0| XME|sjof & M SYULICE These
are the issues to deal with @& These are the

issues to be addressed 0|31 ZiS0| &H| s Z0f

Koo B HEYULH

o[z 1 gel AjzZtol & Eof ot 5 Ho| 23

ZLICH This process will take years, not months

L]

mu rjr
HL

7| OS2 20002t ZHE 6/E
LIt =249 =52 <

FL|C} We basically lost U$20

alf of the year, so we need to

$Q rir

i

0
o 4o

ey
o O 1%

N
i
(o)

o

-
>

million in the first
do something to get back to profitability &

basically 7| 2822, 22X =

el Hzet Huws Be mw, A 4&0| ME2
=

=9 M=zt 4dHe=z  LESLCL



Compared to the prior year, market conditions
have deteriorated, which was reflected in lower

shipment of new products & reflect BFFstCt

AZ|A0A AZE FA|] =27t sO{HLOID 2X]
®ELICH We don't see demand picking up until

the Christmas season

ctHO R = H|E HEO0| QY £ ot MHoz2E
olo| LA = Qlot BEO| QUEL|CH We have the

cost pressure on the one hand and the lack of
revenue growth on the other hand & on the
one hand.... on the other hand ¢ HO=ZE=. .
of HOZ2E= (B3R A8 Y&+ =

2471)

ojo
7y

=]
- T

Y R

SR 2 HAIHQ Ao HX|oM = 0 3

g2 HFE Ha¥el A ZSUCE | think the

exchange rate is too optimistic given the current

Mo

domestic political situation=I think the exchange
rate is too optimistic under the current domestic

political situation= Given the current domestic



political situation | think the exchange rate is too
optimistic & given ™X|AIHQl oojz F9io|z}
£ MEZ 1n2{5H(considering) 2| £0| E. F
=g W o 2= A LuHo|Lt, o7|M=
given L4l under € M= Fesict

bu

ool BH AFgO0l 2] FYo| BYFHo=z
&2 KD AELCE The current economy is

negatively impacting our sales

rtot

20| 2F =7&5HA XYL Exchange

rate is fluctuating these days

20| 2FMEY XHET +=0] X 2 4U
Cl If the exchange rate remains like these days,

export will go wrong & go wrong HXE|Cl go
right & &[Ct

M B oY) Yol BHH He| 2F Ha
ol £ 2% olEES 25 WSV BE H



2| 77
Al 5t

O] MzIcCt,
The bottleneck is that... OZAIE2(EOIEL)
O|&&L|Clthat 0|3} &%)

The concern is that... LH= Oo|HESL|CH
(that 0|5} &%)
The headache is that... =2X|AH2|= O|HSL|C}t

(that 0|5} 2%

The issue that we have to address is that...$2|
72t 28 ofZAo| ==sliof ¥ A2 o|EESL|CH

(that 0|5} 2%

The problem is that..2X= O|&&L|Clthat O

ot 2%)

The thing is that..Zd8kl= 4g2 o|FSLCH



(that 0|3} 2XhH& The situation is that 2 N

L |
=]

What's worrying me most is that... H|7} 7}& &

25t A2 O|ZSLICk(that 0|5t )

LIC} | look at the competition this way. We can't
compete on price, but we can compete on quality
& Look at it this way O|& A= MZISHH}, As |
see it L7 E&= HIEE

ALEl= AZdEe 0220 A8z, 2L
S AYO| 2=kl M2 2 I K| =
O|HX|l f2|o ™ H&HS i MFEA=S
CrAl K= 45101 8l=LICH Under the continuing

difficult market environment, we are left with no

wy i

'_



choice but to suspend production until the
market shows signs of recovery or we can
assemble a financial plan that can support our

growth and development & assemble = &!S}Ct

71E Algel HwAvt det " 4
A

re

oto, 2=

= MH|A S50 A0 OEA LdES B &
A o7t AEY ZAYLICH In view of the strong

incumbent, we will look at how to have product
differentiation in terms of service provision ()
incumbent: 7[E E{XL, HAZFXL differentiation

X'H3} in terms of something O HOj| A

LHEol A=lE 2702l Mz2 o4& /E2 229
FR dF MEto tiet 2FE SdAFAE A
LICt The plan to develop 2 new products next
year will intensify our focus on primary product
segments & segmentE AMO|A ZOLEEH "2
=" 22 Lo A=, ol sz N Es
7t Soh
O M 23t

M&3%t= Product Segment O]

rr n1t|

Market Segmentation & £2Ct



MH ™H: Market Segmentation O}l M| &3}
AH|RFLE DO needs(ERE of= A), wants(E
), demands(27 Ateh)ES 7| flEiM= &F
M Z3}Product Segment)E 8llOF 3t=0|, 0] AUS
27| M= Otz ME3H(Market Segmentation)
= ollof St=0| 47tX| TypeO| RUALL.
Demographic Segmentation(Q! FEA|EHQ A|
£3}), Behavioral Segmentation(#-3H MEZ3}),
Psychographic Segmentation(Xz|E4|&tH M&
3}), Geographic Segmentation(X|2|&t& M|£23})
(3=1) Product Segment RX|%H XtF AMEEE
A2 Product MixO|C}t. Product Mix= 3t 2| AtOf|
M Product Linesg Sdll d4tE[= Product Types
of MHME X 4F (F2) 07|M LYt 80l
= O &7 olsistzi™ GOOGLEOA ZHMBIO Of

OIX] AEISS &1HE

O

T
o=

LfAol= At 7o FAMeb =485 7HEAIFHOF

Ot SFL|ICH We have to improve our portfolio and



profitability next year & portfolio 1) Xttt EHA|A|

2) AtEl OElo| AET

r

=X B1 =5 ®AS B O O f2ls O
222 Scolol n2o|A 2US UBY ZoE

CHHISEG)  HlAF CfH[E B Op@EstC
Whenever we enter into labor negotiation with
the union, we certainly begin some type of
contingency planning in case we need to supply

our customers from other sources

OHAE Aol &4&F QX=E =0[=04 O3k
2 Z=80| ELCt Marketing campaign still can
go a long way toward enhancing the brand

awareness (F¥) go a long way towards doing
something £ St=0 & =&0| E|Ct

Opz Az

A

A BH R

oo S = i
ZO| £ Zot| fgt HEE 7o ©E
(o]

-

orul X C} We remain focused on finding
ways to enhance the earnings regardless of our

entire portfolio & regardless of something &



Aol eiol

THES oD X HEAEE & AYYCt
recognize problems and | am determined to fix
them & be determined to do 1%t Q|X|2 B

1S SiCt

oigfof 22| 152 At = A= & 7HK=
STl OofL{1 RZ|7t St EE AY =
OO M=Z2 HIE #&=& #d= A YLICt One
thing that will differentiate our Group in the
future is having a new cost structure in

everything we do, not just in factories &
differentiate Xt'E3}5tCt

I

rr 4

>

02l

2

r

[

mot H

pOL]
o IO Om

-

il

=

(0]

Q

@

(@)

O

3

3

= s

[0)

o

to put new factory on a growth track and will
continue to target higher-margin niche and
emerging markets & be committed to do F 0|

MESICL niche market SM AlEH(FRE. Al



M AL ZEGAM S22 e AN UHE If=
ofo| HFE FI UM 78IS A
Lt 285 ELICH There were ups and downs
associated with any start-up venture but we got
through the worst and made the best of our
opportunities (F) get through 94, &2 3K
LtZ+Ct

A "EHa A7 FOo: get through vs go

through

get through SAI®t go throughs F 7 2%
250 XHFE A0l= =0{QH, O %o| Eo| =
=E|0| ALEE|0] ofzliet Zo] Fa|5HRiCt

get through

1 ZUiCk(manage to finish something) (011) I



am going to get through university in 5 years
instead of 4 & CHStE 49 C{4l 530 E0X|

21 o

2 ESICt. HOLLUCH(survive  something.
endure some experience) (012) I don’t know
how she managed to get through painful
experience A7} 1822 FES O{EA H
Ot EX] & BEZ0) & go through A|H. 11
= Z4CHOI) | am sorry that | have been hard
to go through this to you 1 S¢t Li7} L{oHH|
ZE|A =0 o] Y= 37| sHAM DOftol

3 A&ofl gAH3siCh(succeed in passing) (03) I
need English lesson to get through
examination A|&0| Ext5l2{H G0 &= T

ofo} i

4 HM3l2 92tZ SICH(contact by telephone) (Gil)
The line is busy, so | can't get through &% &
oj2t HZo| =l



go through

1) BXE AHZX|c Sapsich(d A, 2], "ot §)
(%11) You should go through the screening
applications first and then interview with
Department Head in charge. Finally, you will
have English interview with the Country
Manager from USA (HX MFHAS St =2,
e BEMZa HES ZXoret s, a2 0|
Stoz O|=Ql oh=ET SMAUXL Fojlz HAY
HA E #Hop

2) M, 1442 ZACHundergo, suffer) (012)
Why should | go through all these headaches?
That's not what | want in the first place /Come
on! Listen to me. This is just beginning. If you
cannot overcome it, you will not be survived in
this tough organization: =CHX| O] ZX| 72|
= ol FHOoFZ St= AL? L7t AAE A HS
FE O|A OtLf/Lf & S0f o] TIFOf O|XN AL



oot

|
ot

AZY BO|O) 1 HE 3= ReH 0|

& =
T YR Aot X| 23

3) of|& AHSSICH (0f3) Let's go through our
lines before we take the stage SCHO| A{7| H™
of $2| CHALE Cril ol AS5HXL

g JEo 2 H¥E 7I20|n 2dE R
St AFUCH gz 2-3 W 27 2 A0 K2

of Ol E ZEg AYLICH We are putting a lot
of effort and resources into R & D. What we will
do in the next two to three years will determine
our future & put A into B: AS BO| EO{ZCL R
& D: Research & Development S+ 7, in the

next two to three years &% 2-3d Z0f

<Ele 7|=lE Zoict &8 + UAAOF LIt
We should be able to optimize opportunities (F)
be able to do & FAS & F# ALt 9 XO|4,
should be able to do= A& & + A0{0f 3t

Cte XM, 5254 XtF 2 YU optimize Z[CH



22le] B8dH U= 7ot ZAF|7] LM
= olg{et =X|7} Hesittn 24 21 US|
Cl We firmly believe these measures are
necessary to maintain and enhance our
competitive position & maintain - XA|SICH
enhance 2&fA|7|Cf, =O|Ck

Of Z=X|7t =sfiLt &X|0 LfHO= ZHS %X
TOHAX|T, XFEH 2 WX 39 2ol 2=
e 288 5o = 24 2 A UL This
on't pay off this year or even next, but two or
three years from now, we'll have an extremely
efficient supply chain & pay off 242 WLl F
aAg ¢ *"J-ll'g 22|Ct (o) My efforts paid off
L ==S0] dut= LIEGSLUCH (38k, Y=
T OIF E3. -'?—_’F_?i &470), supply chain 35 &,

o
SCM(Supply Chain Management) 52 & 2|



initiatives will lower our cost base, reduce
)

financial expense, and improve efficiencies &

initiative 1) 2% 2M8S st A= 2) ==X

O SAAE= HTAET
Lt 2|At= oF SHof =
Ot R2ls 252 MUAZIXNE SYSHor &
27t JELICH This fiscal year has been a
disappointing one. But a company is not built in
one fiscal year. Maybe we need to bring in high-
level CEO & FORTUNE FX[(2007d 7€ 9¥ A,
61 page 7|At Q18), bring in Hl2{ 2L} (RIEXIE)
=0 =0|Cf

QzAlotel FRN ZES F 0/83t7| flstol
L22|= AIHO| =H|E o e L|C} We should

prepare ourselves in advance to capitalize on

Indonesia’s economic strengths (5¢) capitalize on

d&s = O|EdIht

A A0 HF B2 sd9S FASH] @e g
BHOZ oHH IFE Liofz AFYLICE We are



going to play it safe by not investing too much
money in the first year & play it safe 2t 2F
SICL, take(=run) a risk Y|ES FEMCH, 2Y
= OICH(YOI= LIX|Z, CRA] =, A Bl

=
=5. 724 &7

Hu

HIERl 7tAMSO Cfs] 2= d4-EES SHA
2ASLCH QiListH 221 oj0f ¥ JtHe=ZE O
28 MNE/J7| IHELYLICE We are not concerned

about any potential price increase because we
have already stockpiled additional volume at low
prices & stockpile H|Z=5tEE K& SHC}

= 20%2| IHEa=E HREe H|
€ Bdol A=E Old{etSLICE During the
past three years, we have implemented major
cost-cutting initiatives, including 20% reduction in

P

work force & initiative =&

HE YD HOE AYUSLICE There has

been progress and there has been failure



Bt
|_°

A 29712 gt ofy #

[

rlo

oi

i §
L
M2 AELICH There is no magic answer to

Y

improve the recent business climate () magic
answer OtH Z2 S|ZAM climate 1) &4. &%

71 2) 71=%

SiMjet ojeiel AH|XE Hoo 22 2fA= 9H
= FO0 COE == Aojorgt  LCH  Our
organization should be able to address the needs
of today’s and tomorrow's consumers ()

address: Q'.’é.*% F0{ CHFLC}, address the issue
=AM sijZof| &=sict ™S St

n2
mot
2
Is-
rr
k=]
e
\l
=
|
ret
rlo
rel mEe Ot rin

] ]
=

Here are ideas to solve the problems &H|&

#s}| gIg ofolcjos YUL|ck



My recommendation is that... 2| FHN Algt2

My suggestion is that... X{2| |9t Al&t2 .

The solutions that | want to come up with

are... M7} Y=Lt s|Z* of E2 ...

These are the solutions | would like to
recommend O|ZdS0| H7} =X E2|1 A2 df

Z ohE YLt

These are the solutions | would like to suggest
0|Zi=0| X7t et E2|n N2 sHEH ¢S ¢

Lt

To solve the problems, | would like to
recommend that... EME siZst?| fIsH |7}

=Mste 22

= AT e



3-4 Slide 0| =

ClS &2 20| EAZSLICH Let's take a look at

the next slide

Ot &2 EAA 2 U You will be watching

next slide

Cte H22 7HIELCH Lets move to next
slide=Let's move on to next slide=Let's go to next

slide

ClE 22 EVE2|=E SIAESLICH Let me show

you the next slide

2 &2 2 H=xot A0 OHE AS0| ULt
= ZaHstA 2 AYLICH If you look at the next

slide, you will find there are similarities and there

are differences

Ct2 A2 HOF FA|7| HFELICH Please take a

look at the next slide



ClES &2 FFo| FA|7| HIELICH Let's turn our

attention to the next slide

T PRz CHES| Qigotn A2 A
Ol =
AN

stgo| st AYLICH The second topic

rlo

x&E 4

rlo

that | would like to touch on is sustainable
environment & touch on=touch upon O ZFEt5|
SOlCt, sustainable §X & £ U=, #BHO|

palE|X] 0 AL E 5 A=*F LIE THO)

AMR I =X[E =Zoot TpMet HEE Hel o H
HEE SIZESLICH Let's take a quick look at the

<)

facts and figures on the slide & facts and
figures XfMITH HE: Z0] E0{A O] ALE EH

A A2 ST X5)

ME| HOfop & 2 EEYULICE That's the key

area we should be looking at
O Z0| = ZT#OIIAL of= ORX|S) FRL|Ct

This comes to the last slide that | want to make a

presentation today = This is the last slide that |



would like to make a presentation today

Za do ZE ERE ANE, O mio] EHs
that O|StE HOIF1 UESL|CE As | said before,
this pie chart shows that.. & As | said before=

As | told you before = As | expressed earlier= As

| mentioned earlier =& 0| st ZdNH=H

& 3-5%0 U2 2% ol2=2| tFE o=
o|O] slide o H5{Q= LGOI, Ct ol ER7}
e

R slides TxorH E[X|2, Crak &

ZE2 Oo|ZFLC SUOA £ MA AFOA

ARSL7| YHME A4 WOy FHHES 25 e



7t AELICH Here is the bottom line. In order to
compete nationally and globally, we need to
make sure we have up-to-date equipment &
nationally and globally= at home and abroad
TLHQ|0| A, up-to-date %|41°]|, out-of-date=7
49|, out of fashion R0 FIEOZ, state of
the art Z|HETH|(FI0l =2 YA}l technology 7t
2Ch), brand new &H MZAQ (5ol F= FAL

car, computer S0| 2C})

HE2 O|HELCL RB|E D MHAZ UFA

717 I8l ofH 2= LEOIX] Bs AYL

LS

Ct
Here is the conclusion. We stop at nothing to

satisfy customer service & stop at nothing 0™
2= MSX|(ZEO|X]) LTt

AES B82S E2H, S¥S 438 E= A &
Ot FH  EELCE In conclusion, my

recommendation is you may want to pay a visit

to the factory (F) you may want to + SAL £



A EACHE AME/ESH7| A58 ST

ot ZMAR2 F1 HQ Ao A(FRE

C} What | want to emphasize is that the

customers are growing and we want to grow with

them
A ANF IS HY + AU Vs oy £
S FASICHE YES EE|HAM OMX|ZSLICE |

would like to finish by saying that the

opportunity to enlarge penetration in the

K

international market is still wide open & =
par 3 E0IAM 0| CF a0 S2|X] X£ota,
LHX| oF AEeE Jor S W FTFERILX o
= thE Fo2 "E M= The door is wide
open=This is your chance=It's all yours O|LC}.

No mark chance = €%l #dl

Zoz, M wEO Q%2 ZEetn AzLL



would like to underline the summary of my
o=

presentation & underline 2&2 X|Ct. Z=3}

Cl(=emphasize)

Oix|%e 2 HE =X «oM A=E AXH
? H

9l

lot of homework to be done

LH AZLE HE S0iA X[STLICH | apologize
to

for taking too much time

YHEES OHX|7] Mo ™Mol 2ES Ealstax
LIC} Before | finish my presentation, | would

like to summarize my conclusion

=% d, el FESta A FRE Y o
71 Rl s4Xez 25 & A YULCtClearly,

we are making progress and continue to work

aggressively toward achieving our goals.

NAXEQ 28 A=SC=zHE Hi ¥ 7[X] 1

0| */U&ELICt There are several lessons to learn



from global financial turmoil

QostE o4 2AULICHE4 290 FalYy
ChH It boils down to ocean freight & boil down
2 A2 ZO|CHEFSAY BOFSCHASAN boil
down to (2|2tA) @7ACH F20| Z[Ct (Of) It boils

down to this. 29f6t™H CZaF 20| & L|C}

fEI

g o 2= of2f 771X B2 E
A7I5tAl S5t opS0] Holl x| Ax|

EIME xtalZol 4zict.

|
Kely
11°]
N
OF
—
o
k=]

2 roet po

Here is the conclusion(sE= bottom line) ZZ

= ojFZLIct

[

In conclusion, | would like to summarize key
message Z2EH2E, F2 8FS HoloAsL

Ct

| would like to finish by saying that... O|2{g} &

S(that 0|3t 2&)= EE|EAM ORX|ASLIC



Let me summarize the conclusion. A2 Hg|

o 2 SLICt

The bottom line of my presentation is that...X|

These are the key points of my presentation O|

Aol 25 H EEO F2 LFYLICE

To wrap up my presentation today, 25 *|2|

YES YelotH,

3-6 2
He|o| XMEBE Hojo| B4 6 0loS ZE M
2 g E¥. A 217 + but (F) OFF HE AL

o, CHE-0IAl Mr. President CHl first name
= 231, HEEHOAE XA S0 AAFEO|
You guys 2t11 21 4z STE X}FESHX| T,
gdol BHOME Z=FZO0| F2 AMEO|L} LIO|E
AtEo|L ZE FEOo|L 7|X}t 2AANM Es 2|



WXl xtE|ofl M FRofl et of Ex
3

.I
3514 Lto|<t ’é.*t*ﬂ’iol FE. XFASS HASt
3

A mEict Fojol= oelE HAFo BIoH =
HAEA MY o|AS of7|Stn, =0 EE of
= B0l 29| An ISA0| ALt HEE FO

but 0| SojZich OfE
9lsl B2 sttt 2o

Hu
0x mIn
n
_o'_l-
4%
ul

2E =0 YolisiM ZSeLCHE Sorry for

interrupting you, but

FEI5tA 20 AX| QX[ | hate to be rude,
but=l am not trying to be rude, but=l don’t

want to be rude, but

Ab20] OfL|2tH  EASHYA[R, BHX|TH Forgive

me, if it is not the case, but



for being private, but

ofot= M7t & EHXJsAe Z2AXT
Wa

Maybe what | did was wrong, but

2| 2t £|

[ = =

e AL CH2E With all my respect=With

due respect

O|H UF L{A ZSELICH | am sorry to
tell you this, but= I'm afraid to say this but
=Excuse me for saying this, but= Regretfully = To

my regret

Ol &&E B2l HX[= X|BH | don't want to

o TES Lal7|of HAEsH AlZE2 OL|X[Z |
know this is not the right time to say this, but

® H& Fol s =H
o

F

I must tell you
something & E& THO0| ASL|CH



ojz &

o

C2|H QHE|ZX| 3t | should not tell
you this, but

O Of7|E E1 HNX= AZX[TH This is not

going to be what you want to hear, but=I know

you don’t want to hear this, but

o HE E2|7|= #X|T | hate to ask you

|'I'IJ
[l
Ho
mjo
_O'_I-
m
= o
OI-

| IISLCHEIY: o] B
g = AZE HIZLICH Allow me to ask

you this question

o|H H|AHZIE EE E2|7] SEHX|X|T | am
hesitating to bring this up, but & | don't want

to bring this up right now, but &% 0| 0f7|&
THUl 2X|= SX|ot

OI™MSI7|= AX[Bt | hate to admit it, but



Hot ol EES EE Y¥F2 OPHLCH | am
n

not in a position to say this, but

Hob ol EES EfME ARIXIT | know |

am not supposed to ask you this question, but

M7t & =22t A=0ES: L] FXE 84

=M 2) Forgive my ignorance, but

M7p &A & L2 OftL|X|Zt This is none of my

business, but

ZAl 7ksE Mt 3 ULEH | am wondering if (Of])
| am wondering If can take a monthly leave
tomorrow ZA| LHY X7t Xt 5712 H %= Q)

S SiA &

Totel Ligto M ot=0| MZ FXfot= AHE

a
YL oFEUIN Fa 021 YolEe 2

ujn
10

»Q
o

L|7t? How are the prospects of new investors

from your country coming to Korea? What are



the main attractions or main barriers?

Fotel O|Fnt AHegtut 2ArE M Z[A ME E
7tR7? Can | mention your name, designation and

company in my article?

=7t =8 AA40[1 WitES O[] DL
Who are your main customers and where do you

market your products? & market OjO{SICH(deal),
Ao ZHHD LEC

CIE HAloZ 0] EES SIAH OfH Hifo=z
AHAIS JHME o AL 7?2 To ask  this

question another way, by what means do you

intend to improve the progress?

Tt S7|1M22 ot ™ {FX|HEE OfEA
HYL7F? How do you see the short and
medium-term  outlook for Korea's fiscal

sustainability?

C
o

-

Al
—

|0

| AfgE =82 UElz o= OoEA B

A L7t? How do you see Korea as a destination



to expand your business?

e ARE oA 2RZ 4 ALLIT? How

would you roughly categorize the market?

CHSHOIZ AN AXZEX F 2QE AMEA|F|IE HE
2 O Q9QI=0| /USL|7I? What are the factors

that will boost sports car demand in Korea? &
boost AZA|Z|Ct

Mo
" o

e

z
Hl
— o
r|r
|.|-|
ofy
jm
'}
r|r
==
30
lo
rg
I

L FHA|2 Stop me if | am wrong (F)
| S&l

Correct me if | am wrong W7} 8l= 2o

H of7IsHH

S o ZAHO oot o dEo| SF= ofEA
HAL[7F? How would you characterize the

current issue of nuclear issue?

= H&E Stit SHAS L CH/EO0ts ALt &0
St= Al ALY Quick question for you!
/What are your likes and dislikes? (F) Can | ask

you a quick question? ZtEteh HZ oLt iz Z



e

AMgA =] s HEXYHQ EES oHEU

C} Let me ask you straight question about your

business plan

M2& CEOEAM OEfA 7tE Zast 43 FA
Ozt M2zt }AL|7t? What do you consider

your most significant accomplishment so far as

=ofel G 2 AH0| CHoHAl Of7[s Az
C UL AX™2 OfFEA 2L
Can you tell us about your bank’'s performance
this year? How do you see your bank's

performance next year?

Q= 2 Atet H|WSHY A=32|Ate| 240t SE2
S A LI? What are the superior features of

local companies in comparison of foreign ones?

Oof AtS O ZTAIZ|7] flet Mot s ES

of FAIZEL7E? What would you suggest to



further develop this business?

oj# EMS0| ZofLt &l sfAX[E2tn HyL
7?2 How soon do you think these problems

could be solved?

o ZFO|M FAA=S F2 7|0 ot LI7H? What
do you hope for most from this forum? & hope
for something F2= H2fCt

o[ ofje] ZFO0| X|talf=ar ofEA L5

How is this year's forum different from previous

years?

A AH AldoMel FHotgt Xjolz elsf H
20| oot M7t 220 o] 2HE HR= ofE
Al sHZste{n SHLIT? The credibility of the

government is low due to the wide gap between
policy and the implementation. How should the

government resolve this issue?

S=0| 2=EtE F=os0 AN 85
= =

OlZEE 2a|7} b



7t? What are the lessons can we learn from

Chinese success in building its infrastructure?

0

Y R NYAA HAZE 2= FXtof o
of =0 & = UA 37| fshM FAS ofof
SiCtd AMZIstHUt? What  the  central
government should do to make local autonomy

helpful for foreign investment?

Y7 MMM ot=0Me e=¢l FXtof cich
Ao CHsH OfEA EHL7? How do you see
the prospect of foreign investment in Korea

within the medium and long-term horizon?

STFE) MY HEF2 FALLIN? What is your

backbone business item?

H2E S o= EHsSUMN? /SHdAMLeld ¢
#=LICH Do you mind if | ask you a question?
/Certainly not! Go ahead! ® mind T2 £/
o|F/=d =20l ANM &ofsict, HEA o 7|t
(M S85tn xtF 20|= SAEN =5 HO



A= A= LA HEel)

Mind if | take this? = Would you mind If | take
this=Do you mind if | take this=May | take this?
O|HE 1 7= E|ZEL T

Mind if | ask you a question? & 3s}L} sz
S|AE LT

A H



Mind If | cut in? & =0 W7l & 70jE0 &
EZELI? & cutin (5. g S0l) 710{SC}

Mind if | dance with you? & Z0| F0{& £|#!

LR

Mind if | join in your conversation? S & L3}
of 7MoS0 e EAWSHM?

Mind If | join you? T&lat SHMsiE g EL|7f2

Mind if | look around a little? E2{8lE ER?

Mind If | open the window? &E2 €0
E|ASLINN

Mind if I sit here? 0{7| 2Ot E|ZESL|7I?

Mind If | smoke? THH m|Q| &= E|ZSL|7}?



Mind if | take a look? HOIE MEHAESL|N?
(3. 4™ SO0 2H 2 o)

Mind if | take a picture with you? LtZ Z0| A}
I "o MAsYMm?

Mind if | take this chair 2|XIS 7}X7}E €722

o|2to| THH2 Never mind! (MZA AX| OrMA|
2)= | don’t mind (ZHClX] &&L|CH=1 don't
mind at all (A& 7HQ|X|] &£SLICH=It doesn’t
bother me(Lt= M7 QF AQILICH=0Of course
not(EE 7HClX] &SL|ICH= Certainly not(EE
JHelX] &&LICH =Not at all(Hs| 7H2| 7H2|X|
2 &LICH=Go ahead! (A&A &4 A|2)=Be my
guest!(AE | StHAIR)

S512}5tX| 2= uje| EHHHZ2 Yes. | mind(H ME
A

0] *MQIL|CH=0f course, | do (22 < AlZHO0| A

ALICh



M ot ELuch 2t ™2 No way! =Out of
the question! =Not possible! = Not allowed! &

£ QrELIct Zcf rELch

2) off ciet GlE2;
Don't mind him! He didn't mean to hurt you 1=
M7 MX|Oh U BH2 At I WE A opLL7t

Don't mind me! Just beer talking! Lf & A4 M
Xop = 4o o 2|7

Mind your own business! Lt Z3tA| Q! (4 O]
Lt &1 M)

Mind your step! & ZMSHHAIL

Real man would not mind it XI&t AtLHZIH &
= AlZ oF & 7ot



You should not mind a glass of beer M

HE2 HESLCHEMOl ME o M= EL[C,

iz ot =2t2E O 5= AL

o

o]

HEO0| ACAEH £ S0 FA7| HHELCE
Please raise your hand if you have any

questions

HE0| AAH ARME 8 FAZ| HHELCE
Please feel free to interrupt me if you any

questions

2ol o= &7 HAMO| CHei ofEA EZ5hy
L|77}? What do you think about the recent
economic slowdown in US=How do you explain
about the recent economic recession in US &

slowdown=recession=slump 47| &AH, slowdown
strike =22 Ef & (H|=S0])

FA M AN = O, X[ R E 2
= AN 2

)
RAELLL A" =+06ta, X 2 &

/|



S EXt 7|52 AL ch OEA = &
=2 2oQL7F? In terms of investment

constraints, not much has changed in the past
few years. Nevertheless, we recorded record-high
investment in the last two quarters. What was the

driving force behind that? & driving force ®&

SHME FAISEL O Liot7kA A7 H
M 857t @U¥o= o & Uo| Foloj2ty
‘A2t S LI77k? What do you think should be the
top priority of the new government so as to
maintain and even increase the market

confidence in the Korean economy?

SR BY TS o) RAO|

=
What would be good promotion for the tourism

O

AL

in Korea?

Sh=0lM ALREE SHA[EAM HHE 2 A2 7
AULI7t? What challenges have you found when

)

doing business in Korea? & challenge X, &&=



"

—

|.|-|

=0 2l=el FEAVIESl MEE 2F0H7] 9
of M ItMl= RFACE MZSHHL|TF? What do
you think should be the top priority for the
government to restore  foreign investor

confidence in Korea?

s2o 8xgo £x £9/7/9 ofEA ST X
2 = UAELI? How would you characterize

the investment climate in Korea these days?

&% 2-3d= 9| HiFat AlE2 FAYULIN? What
are your hopes and plans over the next 2 to 3

years?

g2 5 o MEL Ei F& €2 € oH
L|77? What will you do with the new team in
the next five years? & in 3 years : 3'd 0|=0f

(in2 0]=0fl), within 3 years(within 2 O|Ljo]))

3 2 9 30| M ZHE OJFA HYSHL

7F? How do you see the economy globally in



next few years?

0%

F MY HES {24 EHLUI? How do you

e the prospect of the business in the future?

rot

AN oo DUFSHX] Fn U= AFRSA
L2 ZA0| UELITF? What do you have to

say to the people who are not satisfied with

e

current economic policy? & What do you have
to say(Z & ZA) OlAM to say £ what do you
haveZ 1 Qe X, FAE)S BHFE HY

(
AP A, = infinite; 218/ S2| Hets o
)

=2

OF SMsIH E2|ln (B & ZHe =z slMsjfof
(6ll) Is that all you have to say U7} &35}
A A cfy?

r|r oot

dHoA 2+E HUWFMR = Let's give her a



hand

gAe| EAHZ S HLHFA|Z] HEELICE Let's
give a warm round of appreciation=Let’s give a
big hand of appreciation @& round [HLIZ Xt

His~, 24 a big hand B2l

dofA 2 B+E HUWFHAR Let's give her
a big hand= Let’s put our hands together for
her & give someone a hand=put hands

together=clap one’s hands 24 X|C}

(igse] e 1 2o Sottop Fuct £
2= 1 2 oA AHoe LH@AHE S0 ¥

LIC} Major credit should go to Ray. We must
give a big hand (or appreciation) to Ray

HEXS X2} Zo| (Y+2) Il FAI7| HIE

LIC} Please join me in welcoming the speaker

59| AAEAH ULZME ELU FA|7| HpE



LIC} Let's have a round of applause for our

speakers today & applause SF=Z*f.

59| AHAMSE WX HOIsiFAI7] HEEL
Cl Please give today's speakers a warm

welcome & give a person a warm welcome O}

& [mXo| Zo|stct

E20/ L/{Ltr? LfE0] AFCIO LA F
of LiFSIE Flof L Eol=

www.buffetenglish.com S X[Z£X9l 2F0f &
AlojAlof 2 SIS SfFTA/H LfEFe] ZfAtolZ

gL/ct

S2IAZf ofLf28 ZEF 328-890013-881017
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